
Suguru
Fill the grid so that each cell in a bold outlined cluster of cells contains a digit. 

A cluster of two cells contains the digits 1 and 2, a cluster of three cells contains 
the digits 1, 2 and 3, and so on. No same digit appears in any neighbouring 

cell, not even diagonally.
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1 4 2 4 1 3 2 1
5 3 5 3 2 4 5 3
1 4 1 4 5 3 2 4
2 3 5 3 2 1 5 1
4 1 2 1 5 4 2 3
3 5 3 4 2 3 1 4
2 4 1 5 1 4 2 3
1 5 2 4 2 3 5 1
2 4 1 3 5 1 4 3
1 3 5 2 4 2 5 2
4 2 4 1 3 1 3 1
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14241321
53532453
14145324
23532151
41215423
35342314
24151423
15242351
24135143
13524252
42413131


